BT A LR/ N 1082 4R FEBHA 28 9 i BAFEREETR ABL174N
% 108250 EH— 104265 21— 10A27H 2= 104285 S 10A29H EHIT
ZiE  BMAATE e | BT HWE |BiH BMAE uE 2w anen HE |l BMEHE BE
FR|ERfER 2KG|fiERER MK ER FEoK IRfr e H
B 0.1KG 5 1808| | 03KG|  |miE 0.IKG|  |4THUQRO)<TERS> 2KG
&LEEEKT (QRO) 1KG AR T (ONG) 2KG FERAIT (AIN(CAS)< 9KG AEHLHEQRC) 3KG
SERECE D)+ 4KG]| 4 B BKG| 5 |FAT<AZ> TKG| E |FKEQRC) 3KG
= i‘;? BTCAS)<E  12KG| & . 02KG| F |ET<mmEL> 36 fj 5 e KG
* B B <R(50 1fE| B fF |2 QRO) 6KG| = |[BECCAS(IK)<EE 14
B % % 3xG| M i [BRHQRO KG
LT A T 0.1KG
TR ZE> 5KG
B4k 0.2KG ZhiiE<dbI7>(350g) i TRECIN<EA TS 11 4L ZEEJ4R(QRC) 1KG 4T ZEE4A(QRC) 1KG
B iR OKG| p |ALEEEIE(QRO) IKG| 4 |ALEEIAT(QRO) IKG| y [BIBEE(QROM<IEY 13KG| ye [ERICED 3KG
g | F |Lrmomak] | oKG| 8 [ArskaRze XKG| v |GmEGED) 8KG| py [KSAMH 3KG|  [EEEE 10KG
* § JUB#(QRO) 03KG| = [HTERGFRE)H I 3KG| I [HRLAT 3KG| B |G 0.1KG| ¥
. % | NURQRO<TEIS> 7xa| B |amFmmaks 4KG &
A oska| T [ 14KG o [EmHER L4KG| 7 st 14KG
R | o |[HREHER 14KG| 3H =
a0 HiEE 3KG| B 0.1KG KLEEEI#(QRC) 2KG = EhR 03KG| 4L as 3.6KG
W | B |EBHEQRO) IKG| i |[ABURELD) TKG| 5 |RE4A(QRO) IKG| 3 ST L2KG| 2 |/NBEICER <k 54
’;:Z k| EEIEERCRH R W |FREH <K% KG|  |MEEEERA> 3KG| + |f9iT 0.1KG %
M g t25(1K) 2| fi % e | % s TohCAY-<H SKG| 3%
” L BB <> 2w 7
- = 5 | o |G ke B
W] E LEW] e W] E ]| E sl &
§ AFIREIR 34 AFARESH 3.4 FRAREIA 4 AEARESH 3.6 AFARESH 4.8
B HRERE 2.2 SRAERE 2.8 HREAE 2.2 FREAE 3.1 HREAH 1.2
% RS 3 SHIRSSE 3 N 3 SHIFESE 3.1 SRS 3.1
P=y s 1.9 R 1.2 R 1.3 [ 1.9 B 1.7
i KB K 1 e 1 KR AL
BECKR) 586 BB 673 BECKR) 733 HECKFR) 672 BECKF) 608
B EAAEARRAE PATRE Bk

V2




PREI R PR N 108B4E R BRI 55 10 0 BRAFRRMSGETR ABLI4A

11A1H i 11420 EHI= 11A3H EH= 11A4H E S 11ASH EHIE
W EMEm | WE S AW BE o enem | WE oW AMem | BE oW AHeE | BE
A i OKG| KR HEK wek|  mEmen
H 03KG| |k 06KG| [P+ KG|  |[RALETH 06KG|  |EH 03KG
B 2>E3] QA7) 02KG| o [HEAA <E (565 2| |PERCED) SKG| i | A#ABE(QRC) 6KG
% § AHEATORO)|  OGKG| g B ORADOG) V| g, |SEHICAS)IK) 2| F \geRmoks> 8KG g@ RHI <8 9E>(450g) 1
s | gy |[BEREATCED 2KG| 1B | 0.5KG %{\ TRAIER<KZE> 6.5KG| 2 | EAGHBAZE 3KG| 4 [YFEEGI+FIGEA 10KG
B SR 0.1k6| R (e TQRO 2KG éﬁ - =
FERIGE )+ 1KG o
ZET (CAS)-< Ef8 12KG
&LEEE/NT QRO 1KG ALEFEJ4A(QRO) 0.6KG|  |EA : 0.3KG L5 R (QRO) IKG| |® 0.3KG
FRRL(CAS)(1K)< 5f ARE44(QRC) 1KG - KLEEEIR T (QRC) IKG KERER) 10KG 2 KTEEEI4(QRO) 3KG
_ | T |aE T TS 7KG| %5 |EESEQROH SKG| # |EZFEICED) 3KG| B (mipH <R SKG| 1 |osEE R
e o [em | # |min 0.1KG| B [BESEQRO) xKa| Ty ARz K| i
# B |EERG 01KG| % Tk EEIHQRO) | 4
AR <(E > xG| ™
& ERGR)<K > 2KG
| 5 [ osa| 7 [t 14KG T | e o] ™ [ o
R | o |BHEHEE 14KG| = .
x & 06KG| o\ [AESEQROH SKG| o [ 03KG| . Bk 03KG|  |EEA 03KG
o | ok [REERL 4KG| g D - IKG| g, |ReiHEF 02KG| 3 |MENh<miEE> 2w gy HURGERD+ 8KG
7 B [ BRECADIK] 4@ BE [ARELQRO) 0.6KG| b |EBEFEBOC < 25| | et xKaG|
= % S Rtk 1KG| ¥ [scre>a0 2] =
z 7 Zi =
E) 4 | sty | R kS| A
A P& A & A P& T P& A i
R AR 35 FRRIES 38 TR 38 TRRLOR 39 TR 42
g TRE A 3 T REANE 29 TRENE 14 TRAERE 22 TRENE 24
= Do 3 A 3 S 21 S 3 IEE 3
I TN 1 TR 17 B3R 06 B 19 I 13
o U TKERHH 1 A 1 JKELHE P
HEKF 630 ) 71 D) 628 RECE) B 642
% W i‘%%‘l‘f’w\éﬂ PATHE &%Lﬁgﬁ?%

;; %Wuxj S




PRETH A PRE /N 10884 1B 25 11 H BATBRmESGETR ABL1TAN
ﬁ 11H8H EH— 11H9H BHI= 114108 BHI= 11A11H EH0 1A 126 BT
Xl BiEiE wE o BT BE |BE EMEE BE |l emem BE | eeE HE
ECiEN T 1KG| ke BERER HER IRiRiE e H
4LZE%E] 7 (QRO) 1KG Al L <TEIE> 18015 B 0.6KG il 0.3KG i 1KG
EESE(QRC+ SKG KLZEE % 1KG e 0.6KG AR 0.1KG
B |G <S> IKG| = [FZig8t 3KG H KIS HEs WKG| == AL 0.1KG| g |HEREICGED+ SKG
¥ | 4 |TCAS)-<Fm  12KG| B # A% 0.6KG| & |[4E2E(QRC) AKG| 13 |EEmE<t2> 0.6KG
E A 5 |[ers 2KG % IO <k2> 12KG| T |aEFH grEsn<s 10KG
T R ’z; R + xa| W R :
R 3KG
TRAIH <AK3E> 4KG
ol 0.3KG KLZEEH (QRC) 0.6KG BRI <+4>(3K) 146 /NEE K (QRO)<TFHS, 3KG EFFEQRC) 0.6KG
w |BA 0.IKG| 5 |AREAHQRC) 1KG I 0.1KG| s RERE/INT + 8KG| g VR 10KG
m |t [ARER&EE(  10KG| ¥ |SEEEERCRIR<R 3| B |4t 0.1KG| 2= [#HIK)(5000) 36| %5
R | £ |=@BCASIK) 1a| B | LA @<k 2KG ’Eg ESCE 00 )) 12KG| 2 |#&T 28| #&
N S Cas) ) 1| B [emp smes | o | mre| T |amsddon) 1a| &
BIRAI<K 2> 2KG e =RI(CAS)(1K) 218
A 0.6KG 2 AEEE 14KG "f’% ol NCED 14KG| 7 | i 14KG
R | ox |EEGEHEE 14KG| ‘& = =
5 B4k 0.1KG A 1KG TKIHBEE(3K) 66, = 0.1KG " INEE— 1KG
o | [EmEaRE KG| g |BHBCOED) 4K| % i |[E% 03KG| g |%E 4KG
2| lmews 03KG| F [EmGED: x| il e | % [
& B ke IKG| 2 % £
Zi zZ
= = sty | o [eemonem k| B
W] & LW AR ) & gzl HE bl HE
i AEIRESH 3.4 AEHREEN 4 AFRMRESH 49 AEARESH 3.9 AFHREH 4.5
& TRERNE 2.4 HRAENE 2.2 FREAR 1.3 TRENE 2 TRERE 24
% SHIBSIE 3 SHISIE 3 SHESHE 2.7 SIS 3.2 SHIBSIE 3
5 RS 1.8 RS 1.4 BRI 0.5 PRESE 1.3 RS 1.1
i TKERSH 7KIRHH 1 FLimdH 1 KR FLinfH
HEOF) 598 HER) 675 BB 695 BEKER) 600 BB 658
HIECEADEAMRAF PATHEE e BE T
SRR B




PREITT AP EER/ N 1084 BB 28 12 8 BATEERRETR NE:174 N
% 11150 2 11H16H 2#= 1A 17H E#= 115186 8 s 11519H B#E
28 BMETE we eml  emes BE B EMETE wE o enem HE Bl e HBE
&l Nkl Nk 2KG |HiH MR ER MK IRIREREH
ik 0.1KG SHTGAE 1.5KG CLEENT IKG KLERET4A(QRO) IKG
4T A T (QRC) 1KG " INET 2KG VEBEER <> 2KG FERGED)+ 3KG B 1KG
s [EEOED) 3KG| g |AFTFTIREBORY 10KG| 5 |FRAICAS)(IK) 20| e [BEEEEEG00R)<GE 2| 2 [F5EH 0.2KG
F | E |[BTCAS)<LRE 12KG| 1& B |RE % 0.1KG| %L |TRAIER<KZ> 12KG| #¢ | BRI R)FEES 12KG
|5 \=Emg 1| & B\ @Rk %> 2KG| A *
e o 2  [mB Ao | -
B4 0.2KG
KEFE+ 10KG i 1KG B 0.3KG B4k 0.2KG I 0.3KG
& |AEE 0.6KG| ft |ALEEE4AQRC) IKG| 4r |KLHHH 0.IKG| B IARHLHQRO) SKG| x |SEEEEIRA> 10KG
Bl | m |[ERESESS 3KG %E EREAT OO 10KG| f2 |A[ZEEAT(QRC) 2KG| T [HHEA <00 M| K |FERBUCAS)IK)<E 5,
X | a8 |lazm 0.1KG| g [£BHEQRO) IKG| % |t B> SKG| 4 |TRPVRE<AZE 3KG| ¥
* = | LRk @R xa| = FEHCLNA T <KE> 3KG| E &
MR T 5KG
#| 2 [ 0.6KG fﬁ il AT 14KG E‘Tﬁw@i 14KG jﬁ e e 14KG
R | o [BXGENERE 14KG| i A
. Bk 0.3KG FRERETHE)(QRO) TKG FERLRE<ET2E>(80g) 180(& s &l 0.3KG = FUAYE<FERE> 5KG
o | o e 03KG| £ |RFED<KZE> IKG| [ ¥ |4 3KG| 2 |FEEK 1KG
% | & [rmaomon] x| i T [KBO)IES G| B [mmman =
B 2 R B | SmEB0cR) 1| ™
5 = VN
5 o 1759 | L [BESDGREEER) DR E1fl 3
] e o] (i R (& 51 (i Al i
§ AR 34 AR 43 AR R 5.2 ARIREE 3.4 AR 4.4
= TAEAME 2.3 TAERE 5 TAENE 2.2 TAENNR 2.4 RSN 2.7
= SHESNE 3.1 ShASIE 3.3 ShASIE 2.7 SHISHE 3.1 ShASIE 3
N P 1.7 RS 1 R 0.6 PR 1.5 R 0.8
i K KSR 1 AIE 1 KA 0.3 750
HEKRD) 593 RECD) 737 HEKT) 786 _RECKH 613 HEKD 666
H:ERASEARAF PATHLE : Bk

5§ R




